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1. THO=ZAFONBICHBELLZHEZAD. (SH5#H, Afk14520%, B2, C#H345)

(1) AD:DB=1:1, AE:EC=1:1 (2) BD:DC=2:3, AE:EC=1:1
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(3) AE:EC=1:2, AD:DB=1:3 (4) AD:DB=5:4, BE:EC=2:1
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(5) AD:DB=2:3, AE:EC=5:2 (6) AD:DB=7:8, BE:EC=5:1
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THROZAFEONBICELZEHEZAD. (SHT1510, Afk1545F, BF27530%, C#ka4r)

(1) AD:DB=2:3, BE:EC=2:1
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(3) BD:DC=1:4, AE:EB=1:5
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(5) AD:DB=3:7, AE:EC=5:4
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(2) BD:DC=5:3, AE:EC=1:1

(4) AD:DB=3:5, BE:EC=2:3
A

(6) AD:DB=8:7, BE:EC=3:7
A
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1. THO=ZAFONBICHBELLZHEZAD. (SH5#H, Afk14520%, B2, C#H345)

(1) AD:DB=1:1, AE:EC=1:1 (2) BD:DC=2:3, AE:EC=1:1

AADE:AABC:( ) (@xé) 1]:[4] AADE: AABC = (@ x A): (® x A) =[3]:[10]
= #J¥ DBCE = = PUAI EABD =[10]|-[3]=[7]
(3 AE:EC=1:2, AD:DB=1:3 (40 AD:DB=5:4, BE:EC=2:1

AADE:AABC:(@)XA) (@ A) - AADE:AABC:(@XA) (@ A) -

= VUf4J% DBCE = = VUM ECAD =
(5) AD:DB=2:3, AE:EC=5:2 (6) AD:DB=7:8, BE:EC=5:1

AADE: AABC = (@ x A): (® x A) AADE: AABC = (@ x &) : (B x &)
=10:35=[2]:[7] =40:90 =[4]:[9]
= PUfTE DBCE = [7]-[2]=]5] = PUAIE ECAD =[9]-[4]=[5]
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2.

THROZAFEONBICELZEHEZAD. (SHT1510, Afk1545F, BF27530%, C#ka4r)

(1) AD:DB=2:3, BE:EC=2:1

AADE : AABC = (@ x A) : (@ x A)

=6:15=2]:[5]
= UM ECAD =[5]-[2]=[3]

(3) BD:DC=1:4, AE:EB=1:5

AADE : AABC = (@ x @) : (@ x @)

=5:30=1]:[6]
= DU DCAE = [6]|—[1]=[5]

(5) AD:DB=3:7, AE:EC=5:4

AADE : AABC = (@ x @) : (@ x &)

=15:90 =[1]:[6]
= VUM% DBCE =[6]-[1]=[5]

(2) BD:DC=5:3, AE:EC=1:1

AADE: AABC = (@ x A\) : (® x &) =[3]:[16]
= PufI% EABD =[16]-[3]=[13]

(4) AD:DB=3:5, BE:EC=2:3

AADE : AABC = (@ x A) : ( x A)

=10:40 =[1]:[4]
= P ECAD =[4]-[1]=[3]

(6) AD:DB=8:7, BE:EC=3:7

BAE A C
AADE : AABC = (@ X &) : (@ X &)

=21:150 =[7]:[50]
= VUM% ECAD =[50 [7]=[43]
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